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Section A (60 marks)

1 Solve the inequality x x5 62 - . [2]

2 (a) The function ( )xf  is defined by

  ( )x x1 2f = +  for x 2
1H- .

  Find an expression for ( )xf 1-  and state the domain of this inverse function. [3]

 (b) Explain why ( )x x1g 2= + , with domain all real numbers, has no inverse function. [1]

3 In this question you must show detailed reasoning.

 The diagram shows the curve with equation y x5=  and the square OABC where the points A, B 
and C have coordinates (1, 0), (1, 1) and (0, 1) respectively.

 The curve cuts the square into two parts.
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 Show that the relationship between the areas of the two parts of the square is

 5Area below curve
Area to left of curve

= . [4]

4 In this question you must show detailed reasoning.

 Determine the exact value of 
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